sep21 (motion terms).notebook September 22, 2011




sep21 (motion terms).notebook

Motion .

Kivewatics - ‘nlM

Sealay gomdily - hag qq.(uqthb)nl\) m
eckor qomtiby — |y ige gl diseckion m.

\‘\ﬂl d {hhalln
e s
distants (ad) = how far e obieck ha
) (‘:a S )

y Sttt h

Prr3 4 s "
T2 2n00 a, * (2]
Wikial posibion & = 2m B8]
Gonal gokion  d = G (8]
d(swhm 6“- G
dipuaont < 0 -
M l..m 2m[e]

4 2

0 v vy yg g™
|$“‘WM‘WLWMH
! 6#%-&‘ Sm
Wit is b s plaomant of fha bkl ?
8= $alR) = Sm2]- Im[R)
$uR) 5&] }:

o

011 345, 4g "

Whak 6 Y distanse traoded 7 0 * 10
Wht § o disgaceneat ? o = O
bime (at) ~ fe bine inborval for Hhe wotim

(ete) L il Y
te - o findl bine
At: {{ -t
spud (v) - &n&ethkﬁw&
(scalar) cnls Covenad
l\ nnll\
Vclm\-,(V) hmhs\u\\chd_t_sg_\_qgt
(vectm)
Sonls (€]
tokelh C61 29 {et]

September 22, 2011



sep21 (motion terms).notebook

BLM9-10.pdf - Adobe Acrobat Pro

September 22, 2011

File Edit Yiew Document Comments Forms Tools Advanced  Window Help

== = I
L Create = @ Combine = @ Collaborate =

ﬁ Secure f Sign = @ Forms + E Multimedia = ;? Comment *

i o W= T @ O R RN NN S YT
: 1365 19715 47 m 3 Tm =
B A
0h 3.5h +12.0 km +15.7 km
= 14.0s 9.0s +13.1m +102.3 m
- 3 min 5 min +14.8 cm +9.1 em
-"‘7

2. Solve the following problems.
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(b)A person is drwmg a car along a straight hlghnay The car’s posmon at 9:00 a.m. is 13 km from home Its
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